8 | 7 | 6 | 5 §|7 4 | 3 |

NO. PART NAME PART # REIQ'D MATERIAL
1 |HEX JAM NUT 7/16"-20 N716S 1 18-8 SS
2 |HEX LOCK NUT 5/16"-18 R20ANS 1 18-8 SS
3 | TAMPER RESISTANT SCREW 10-32 X 3/8" TRS1032SS 2 302 SS
4 | VACUUM RELIEF VALVE GASKET 2 1/2" VV2529G 1 | BLACK EPDM PC
5 | VACUUM RELIEF VALVE BUSHING 2 1/2" VV25541SB 1 303 SS
6 |SPRING 1" X 3 1/2" VV25541SP 1 18-8 SS
7 | VACUUM RELIEF VALVE STEM 2 1/2" VVN25S4SA 1 304 SS
ENGRAVE 8 |VACUUM RELIEF VALVE BODY ASSEMBLY 2 1/2" | VWN25S4VBA| 1 304 SS
"AAR # E-202141", "SALL" 9 | VACUUM RELIEF VALVE CAP VVNS4TC 1 304 SS
TEXT HEIGHT .17 MINIMUM 10 | FLAT WASHER 7/16" WASH716S 1 18-8 SS
MARK PER Q-2.14 <
TEXT HEIGHT .1" MINIMUM - - N A

APPLY ANTI-SEIZE
TO THREADS

L
| \§
'\ | T (4 15/16) E

2 1/2-8 NPT |

@ —_— Y 8

il
)

ENGRAVE

"SET VACUUM 3/4 PSIG",
"WVVWN2554129A", "PC EPDM"
TEXT HEIGHT .1" MINIMUM

<_'A‘ SECTION A-A K | WEB | 9/10/21 |UPDATED MARKINGS; REMOVED LABEL
J | WEB | 9/10/20 |AAR # WAS E-099034; UPDATED TITLE BLOCK
B T (@2 1/2) I | JG | 3/19/18 |Q-2.14 WAS QAP5A-1; Q-2.15.7 WAS QAP4C-1
H RIP | 7/24/14 [TRS1032SS WAS BHCS73742
G | WEB | 4/16/14 [CHANGED "VVN25" TO PART NUMBER
F RIP 1/24/14 |UPDATED TITLE BLOCK
APPLY ANTI_SEIZE £ cs | 11/26/12 ADDEIHD MARK PER QAP5A-1 NOTE & TITLE BLOCKADDED TEXT SIZE & "PC
TO THREADS APPLY DROP OF 5[ | S92 |obis SeRIAL 1 o
BLU E TH READ LOCKER C BG 5/7/12 |UPDATED VVN25S4VBA & REPLACED BHCS1034S W/BHCS73742
B | CHL | 1/29/10 [AAR APPROVAL # WAS E-999001
A CHL | 11/25/09 |ADDED PART INTO THE SYSTEM
N OTES : UNLESS OTHERWISE SPECIFIED . — - At D=L
1. VALVE BODY IS 304 SS WITH TEFLON ENCAPSULATED SILICONE O-RING. S (F:,JH(; [§ saLco propucts. N
2. VACUUM RATING IS 1.53" OF Hg (-.75 PSI) PER APPENDIX A, - cof ..
CECTTON & 10 Ok AR ANK CAR VAN A, oo oy "ger™e [as| VACUUM RELIEF VALVE 2 1/2" THREADED
3. AAR APPROVAL # E-202141. ANBULAR: “lerovuctionev:| PIG | SEEEOM
DEBURR ALL SHARP EDGES. PRODUCTION MATERIAL:
4. TEST PER Q-2.15.7. gD saciso| PROVETION [ s1/aspoo0s | —
5. SEE DOCUMENT Q-2.14 FOR MARKING PROCEDURE. sestomonenie | e | D |, WAGU/S0 10F1 | 1:
6. VV2529G 1S PEROXIDE-CURED. | | x 1 [owmer [27800[VVN25S4129A




